Rivet 3.1.10, = 2.8M events

8000 GeV pp tt
o —| T I T I T I T I T | T I T I T I T I T | T I T I T |_
@ 0 _
< 01 :_ Alc VS pT’ttbar (ttevents, parton level information) _:
0.08 - | CMS. |
— --=-- Pythia 6.428 359 ]
— —74A— Pythia 6.428 370 -
0.06 [— Pythia 6.428 a =
—  ---+-- Pythia 6.428 dw |
0.04 — —e— Pythia 6.428 p0 —
e »-- Pythia 6.428 pro-q20 —
0.02 —
= —]
-0.02 |- —
-0.04 |— -
-0.06 |- —
-0.08 _| | | | | | | | |_
:| EI' T T T | | T |:
25 & =
R AN N
%) - Lo\Y —
p= N AW 7
O B L\ ]
S 1 A
. | . : _
IS | | \ H |
o Vo L
] \“‘ \\\ ):% 5 |
0.5 C\ + —
L. NN T L L
0 100 200 300

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


